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1o Bl | 94.905,392,000] 13,240,892, 472 53. 16
2 M G 5 B 330, 000, 000 96, 096, 000 29. 12
SIS I S b 28, 000, 000 9, 776, 000 34. 91
4 o5 w o fr & 187, 000, 000 33, 410, 000 17. 87
5 RS RERIE AT 15 F1 &2 A 4 146, 000, 000 0 0. 00
6 # J7 W T Bl A AF 4B 2, 300, 000, 000] 1,299, 967, 000 56. 52
(RS O T 83, 000, 000 28, 399, 000 34. 22
LA/ I A 137, 000, 000 174, 033, 000 127. 03

9o M o B 1, 800, 000,000 1, 180, 016, 000 65. 56
10 2238 22 42 04 R I 22 4 23, 000, 000 10, 389, 000 45. 17
1o # e kale 1, 103, 563, 000 539, 487, 054 48. 89
12 fE A B kO F Sk 746, 760, 000 393, 830, 887 52. 74
13 L S 9, 580, 382, 000| 2,959, 837, 165 30. 89
14 B X H & 3, 062, 807, 000 527, 642, 331 17.23
) PE I A 46, 540, 000 72, 518, 607 155. 82
16 % it & 2, 000, 000 3,703, 728 185. 19
17 A & 1, 084, 552, 000 0 0. 00
18 i & 1,118, 375,859] 1,970, 341, 759 176. 18
19 & I A 1, 295, 886, 000 138, 269, 267 10. 67
20 T " 6, 602, 100, 000 0 0. 00

21 B F K B B & 0 0 _
I A o A1 | 54,582,287, 850 22, 678,539, 270 41.55
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1 = 1t 415, 540, 000 218, 277, 412 52. 53
2 5 F3,744,843,084] 1,595,704, 532 42. 61
3 K & F 22,366,363,248] 9,434, 478, 537 42. 18
4 ‘B H 5,179,564,000] 1,821,239, 021 35. 16
5 J7 ) = 31, 316, 528 14, 028, 934 44. 80
6 = M K E R K 165, 675, 000 73,108, 176 14. 13
[ L = 357, 333, 000 210, 946, 494 59. 03
+ A F 7,356,724,479] 1,759, 394, 108 23.92

9 H Z 1 1,996,373, 615 885, 098, 468 14.34
10 % Gl H 8,698, 495,490] 2, 772, 606, 355 31. 87
1 % % # B % 9, 000 0 0. 00
12 = f5t B 4 130,864,000 1,945,417, 578 47.09
13 & X i & 26, 255, 000 26, 255, 000 100. 00
14 ¥ i + 112,931, 415 0 0. 00
s i & A 54,582, 287,850 20, 756, 554, 615 38. 03




